# SOME PROPERTIES OF DEGENERATED EULER POLYNOMIALS OF THE SECOND KIND USING DEGENERATED ALTERNATIVE POWER SUM 

JUNG YOOG KANG


#### Abstract

We construct degenerated Euler polynomials of the second kind and find some basic properties of this polynomials. From this paper, we can see degenerated alternative power sum is defined and is related to degenerated Euler polynomials of the second kind. Using this power sum, we have a number of symmetric properties of degenerated Euler polynomials of the second kind.


AMS Mathematics Subject Classification : 11B68, 11B75, 12D10
Key words and phrases : degenerated Euler polynomials of the second kind, degenerated alternative power sum, symmetric property

## 1. Introduction

The Euler numbers are the numbers $E_{n} \quad(n=0,1,2, \cdots)$ in the Maclaurin Series representation

$$
\sum_{n=0}^{\infty} \widetilde{E}_{n} \frac{t^{n}}{n!}=\frac{1}{\cosh t}=\frac{2 e^{t}}{e^{2 t}+1}, \quad\left(|t|<\frac{\pi}{2}\right)
$$

We know that $E_{2 n+1}=0,(n=0,1,2, \cdots)$. Sometimes, mathematicians refer to Euler numbers of the second kind in order to distinguish Euler numbers of the first kind. As well known, we can also represent Euler numbers of the second kind using exponential function .

Definition 1.1. The Euler numbers of the second kind define

$$
\sum_{n=0}^{\infty} \widetilde{E}_{n} \frac{t^{n}}{n!}=\frac{2 e^{t}}{e^{2 t}+1}, \quad\left(|t|<\frac{\pi}{2}\right)
$$

From these numbers, many mathematicians have studied the Euler, Bernoulli, and Genocchi polynomials. In 1961, L. Calitz introduced serveral properties of

[^0]the Bernoulli and Euler polynomials of the second kind(see [3]). In [1-4,6-15], Mathematicians have also researched interesting relations between the Bernoulli, Euler, and Genocchi polynomials combining $q$-number or Apostol number or etc. Various numbers and polynomials are advanced, expanded by many mathematicians and taken a number of application and many branches of mathematics.

Definition 1.2. The Euler polynomials of the second kind define

$$
\sum_{n=0}^{\infty} \widetilde{E}_{n}(x) \frac{t^{n}}{n!}=\frac{2 e^{t}}{e^{2 t}+1} e^{t x}, \quad|t|<\frac{\pi}{2}
$$

From Definition 1.2, mathematicians have observed various properties and identities(see $[3,6,12]$ ).

Theorem 1.3. For any positive integer $n$, we have
(i) For any positive integer $m(=$ odd $)$,

$$
\begin{align*}
& \widetilde{E}_{n}(x)=m^{n} \sum_{i=0}^{m-1}(-1)^{i} \widetilde{E}_{n}\left(\frac{2 i+x+1-m}{m}\right) \text { for } n \geq 0 \\
& \widetilde{E}_{l}(x+y)=\sum_{n=0}^{l}\binom{l}{n} \widetilde{E}_{n}(x) y^{l-n} \\
& \widetilde{E}_{n}(x)=(-1)^{n} \widetilde{E}_{n}(-x), \tag{iii}
\end{align*}
$$

(iv)


In [2,10-12], we can see a numerical investigation on the zeros of various polynomials(see the above figure) and find some conjectures. In addition, we can also
research the phenomenon of roots that form real numbers and complex numbers in their polynomials.

In this paper, the main aim is to find some identities of degenerated Euler polynomials of the second kind using degenerated alternative power sum. To make symmetric property of degenerated Euler polynomials of the second kind, we construct degenerated alternative power sum. We also have some basic properties of degenerated Euler polynomials of the second kind using various methods.

## 2. Some basic properties of degenerated Euler polynomials of the second kind

In this section we define degenerated Euler polynomials of the second kind. Fron this definition, we find serveral theorems that have important for finding these polynomials applications. Furthermore, we try to find a form, $(x \mid \lambda)_{n}$, which is related to degenerated Euler polynomials of the second kind.

Definition 2.1. Let $n$ be any non-negative integer. For $x \in \mathbb{C}$, we define degenerated Euler polynomials of the second kind as

$$
\sum_{n=0}^{\infty} \widetilde{E}_{n}(x, \lambda) \frac{t^{n}}{n!}=\frac{2}{(1+\lambda t)^{\frac{2}{\lambda}}+1}(1+\lambda t)^{\frac{1+x}{\lambda}}
$$

Setting $x=0$ in the degenerated Euler polynomials of the second kind, they can be simplified as follows:

$$
\sum_{n=0}^{\infty} \widetilde{E}_{n}(0, \lambda) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} \widetilde{E}_{n}(\lambda) \frac{t^{n}}{n!}=\frac{2}{(1+\lambda t)^{\frac{2}{\lambda}}+1}(1+\lambda t)^{\frac{1}{\lambda}}
$$

where $\widetilde{E}_{n}(\lambda)$ is Euler numbers of the second kind. If $\lambda \rightarrow 0$, then we can find the classical Euler polynomials of the second kind as

$$
\lim _{\lambda \rightarrow 0} \sum_{n=0}^{\infty} \widetilde{E}_{n}(x, \lambda) \frac{t^{n}}{n!}=\lim _{\lambda \rightarrow 0} \frac{2}{(1+\lambda t)^{\frac{2}{\lambda}}+1}(1+\lambda t)^{\frac{1+x}{\lambda}}=\frac{2}{e^{t}+e^{-t}} e^{t x}=\sum_{n=0}^{\infty} \widetilde{E}_{n}(x) \frac{t^{n}}{n!}
$$

Theorem 2.2. Let $x$ be any complex numbers. Then we have

> (i) $\widetilde{E}_{n}(x, \lambda)=\sum_{k=0}^{n}\binom{n}{k}(x \mid \lambda)_{k} \widetilde{E}_{n-k}(\lambda)$
> (ii) $\widetilde{E}_{n}(x+y, \lambda)=\sum_{k=0}^{n}\binom{n}{k}(y \mid \lambda)_{k} \widetilde{E}_{n-k}(x, \lambda)$.

Proof. (i) From the generating function of the degenerated Euler polynomials of the second kind, we can find

$$
\begin{aligned}
\sum_{n=0}^{\infty} \widetilde{E}_{n}(x, \lambda) \frac{t^{n}}{n!} & =\frac{2}{(1+\lambda t)^{\frac{2}{\lambda}}+1}(1+\lambda t)^{\frac{1+x}{\lambda}} \\
& =\sum_{n=0}^{\infty} \widetilde{E}_{n}(\lambda) \frac{t^{n}}{n!} \sum_{n=0}^{\infty}(x \mid \lambda)_{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k}(x \mid \lambda)_{k} \widetilde{E}_{n-k}(\lambda)\right) \frac{t^{n}}{n!}
\end{aligned}
$$

which gives the required result.
(ii) We omit a proof of (ii) due to its similarity to (i).

Theorem 2.3. For $x, \lambda \in \mathbb{C}$, the following holds

$$
\widetilde{E}_{n}(-x,-\lambda)=(-1)^{n} \widetilde{E}_{n}(x, \lambda)
$$

Proof. Using the generating function of degenerated Euler polynomials of the second kind, we find

$$
\begin{aligned}
\sum_{n=0}^{\infty} \widetilde{E}_{n}(-x, \lambda) \frac{t^{n}}{n!} & =\frac{2}{(1-\lambda t)^{-\frac{2}{\lambda}}+1}(1-\lambda t)^{\frac{1-x}{-\lambda}} \\
& =\sum_{n=0}^{\infty} \widetilde{E}_{n}(x, \lambda) \frac{(-t)^{n}}{n!}
\end{aligned}
$$

Now comparing the coefficients of $t^{n}$, we find the result.
Theorem 2.4. Let $n, x, \lambda \in \mathbb{Z}$. Then we have

$$
(x \mid \lambda)_{n}=\frac{1}{2}\left(\widetilde{E}_{n}(x+1, \lambda)+\widetilde{E}_{n}(x-1, \lambda)\right) .
$$

Proof. From the Definition 2.1, we can observe the following equation:

$$
\begin{aligned}
& \sum_{n=0}^{\infty}\left(\widetilde{E}_{n}(x+2, \lambda)+\widetilde{E}_{n}(x, \lambda)\right) \frac{t^{n}}{n!} \\
& =\frac{2}{(1+\lambda t)^{\frac{2}{\lambda}}+1}(1+\lambda t)^{\frac{3+x}{\lambda}}+\frac{2}{(1+\lambda t)^{\frac{2}{\lambda}}+1}(1+\lambda t)^{\frac{1+x}{\lambda}} \\
& =2(1+\lambda t)^{\frac{1+x}{\lambda}}=2 \sum_{n=0}^{\infty}(x+1 \mid \lambda)_{n} \frac{t^{n}}{n!} .
\end{aligned}
$$

Therefore, we find

$$
(x+1 \mid \lambda)_{n}=\frac{1}{2}\left(\widetilde{E}_{n}(x+2, \lambda)+\widetilde{E}_{n}(x, \lambda)\right)
$$

which immediately gives the required result.

Using Cauchy product on the above proof proccess, we can consider that

$$
\begin{aligned}
2(1+\lambda t)^{\frac{1+x}{\lambda}} & =2(1+\lambda t)^{\frac{1}{\lambda}}(1+\lambda t)^{\frac{x}{\lambda}} \\
& =2 \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k}(1 \mid \lambda)_{n-k}(x \mid \lambda)_{k}\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Corollary 2.5. From Theorem 2.4 and the above equation, we have

$$
\sum_{k=0}^{n}\binom{n}{k}(1 \mid \lambda)_{n-k}(x \mid \lambda)_{k}=\frac{1}{2}\left(\widetilde{E}_{n}(x+2, \lambda)+\widetilde{E}_{n}(x, \lambda)\right)
$$

Corollary 2.6. For $\lambda \rightarrow 0$, in Theorem 2.4, one holds

$$
x^{n}=\frac{1}{2}\left(\widetilde{E}_{n}(x+1)+\widetilde{E}_{n}(x-1)\right)
$$

where $\widetilde{E}_{n}(x)$ is the classical Euler polynomials of the second kind.
Theorem 2.7. For $x, \lambda \in \mathbb{C}$, we have

$$
(x \mid \lambda)_{n}=\frac{1}{2}\left(\sum_{k=0}^{n}\binom{n}{k}(2 \mid \lambda)_{n-k} \widetilde{E}_{k}(x, \lambda)+\widetilde{E}_{n}(x, \lambda)\right) .
$$

Proof. Let $(1+\lambda t)^{\frac{2}{\lambda}}+1 \neq 0$. From the generating function of degenerated Euler polynomials of the second kind, we can find

$$
\left((1+\lambda t)^{\frac{2}{\lambda}}+1\right) \sum_{n=0}^{\infty} \widetilde{E}_{n}(x, \lambda) \frac{t^{n}}{n!}=2(1+\lambda t)^{\frac{1+x}{\lambda}}
$$

or, equivalently,

$$
\begin{aligned}
2(1+\lambda t)^{\frac{1+x}{\lambda}} & =2 \sum_{n=0}^{\infty}(1+x \mid \lambda)_{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{n=0}^{\infty}(2 \mid \lambda)_{n} \frac{t^{n}}{n!}+1\right) \widetilde{E}_{n}(x, \lambda) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k}(2 \mid \lambda)_{n-k} \widetilde{E}_{k}(x, \lambda)+\widetilde{E}_{n}(x, \lambda)\right) \frac{t^{n}}{n!}
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$, the proof is complete.
Corollary 2.8. In Theorem 2.4 and Theorem 2.7, we can see

$$
\widetilde{E}_{n}(x+1, \lambda)=\sum_{k=0}^{n}\binom{n}{k}(2 \mid \lambda)_{n-k} \widetilde{E}_{k}(x-1, \lambda) .
$$

We can use Theorem 2.2, to calculate some elements of $\widetilde{E}_{n}(x, \lambda)$. Here, we employ Mathematica to compute degenerated Euler polynomials of the second kind. The first few degenerated Euler polynomials of the second kind are

$$
\begin{aligned}
& \widetilde{E}_{1}(x, 0.1)=x \\
& \widetilde{E}_{2}(x, 0.1)=\frac{1}{10}\left(-10-x+10 x^{2}\right) \\
& \widetilde{E}_{3}(x, 0.1)=\frac{1}{50}\left(15-149 x-15 x^{2}+50 x^{2}\right) \\
& \widetilde{E}_{4}(x, 0.1)=\frac{1}{500}\left(2445+897 x-2945 x^{2}-300 x^{3}+500 x^{4}\right)
\end{aligned}
$$

$$
\vdots
$$

Using computer we investigate the zeros of $\widetilde{E}_{n}(x, \lambda)$. Here, our expectation is that a plot of $\widetilde{E}_{n}(x, \lambda)$ will approach to a plot of $\tilde{E}_{n}(x)$ when $\lambda \rightarrow 0$.


Figure 1. Zeros of $\widetilde{E}_{n}(x, 0.1)$ for $n=20,30,40,50$

In Figure 1, for $n=20,30,40,50, \lambda=0.1$, we observe from top-left to the bottom-right that the zeros shape is similar to zeros shape of the classical Euler polynomials of the second kind(see [12]).

## 3. Some relations between degenerated Euler polynomials of the second kind and degenerated alternative power sum

In this section, we define the degenerated alternative power sum. From this power sum, we can find relation between this power sum and degenerated Euler polynomials of the second kind. We can also observe some symmetric properties
of the degenerated Euler polynomials of the second kind using the degenerated alternative power sum.

Definition 3.1. Let $m \in \mathbb{N}$. We then define a degenerated alternative power sum as:

$$
\sum_{n=0}^{\infty} \widetilde{P}_{n}(m-1 ; \lambda) \frac{t^{n}}{n!}=\frac{2(-1)^{m-1}(1+\lambda t)^{\frac{2 m+1}{\lambda}}+1}{(1+\lambda t)^{\frac{2}{\lambda}}+1}
$$

Theorem 3.2. For $m \in \mathbb{N}$, we hold

$$
\widetilde{P}_{n}(m-1 ; \lambda)=2 \sum_{i=0}^{m-1}(-1)^{i}(1+2 i \mid \lambda)_{n}
$$

Proof. From Definition 3.1, we find

$$
\begin{aligned}
\sum_{n=0}^{\infty} \widetilde{P}_{n}(m-1 ; \lambda) \frac{t^{n}}{n!} & =\frac{2(-1)^{m-1}(1+\lambda t)^{\frac{2 m+1}{\lambda}}+1}{(1+\lambda t)^{\frac{2}{\lambda}}+1} \\
& =2(1+\lambda t)^{\frac{1}{\lambda}} \sum_{i=0}^{m-1}(-1)^{i}(1+\lambda t)^{\frac{2}{\lambda} i} \\
& =\sum_{n=0}^{\infty} 2 \sum_{i=0}^{m-1}(-1)^{i}(1+2 i \mid \lambda)_{n} \frac{t^{n}}{n!}
\end{aligned}
$$

The required relation now follows immediately.
From Definition 3.1, we can note that

$$
\begin{aligned}
\lim _{\lambda \rightarrow 0} \sum_{n=0}^{\infty} \widetilde{P}_{n}(m-1 ; \lambda) \frac{t^{n}}{n!} & =\lim _{\lambda \rightarrow 0} \frac{2(-1)^{m-1}(1+\lambda t)^{\frac{2 m+1}{\lambda}}+1}{(1+\lambda t)^{\frac{2}{\lambda}}+1} \\
& =2 e^{t} \frac{(-1)^{m-1} e^{2 m t}+1}{e^{2 t}+1}=2 \sum_{i=0}^{m-1}(-1)^{i} e^{(2 i+1) t} \\
& =\sum_{n=0}^{\infty} 2 \sum_{i=0}^{m-1}(-1)^{i}(2 i+1)^{n} \frac{t^{n}}{n!}
\end{aligned}
$$

where $2 \sum_{i=0}^{m-1}(-1)^{i}(2 i+1)^{n}$ is the classical alternative power sum which is related to the classical Euler polynomials of the second kind.

Theorem 3.3. For $\lambda \in \mathbb{C}$, the following relation holds:

$$
\widetilde{P}_{n}(m-1 ; \lambda)=\widetilde{E}_{n}(\lambda)+(-1)^{m-1} \widetilde{E}_{n}(2 m, \lambda)
$$

where $\widetilde{E}_{n}(\lambda)$ is the degenerated Euler numbers of the second kind.

Proof. To obtain the relation between degenerated alternative power sum and Euler polynomials of the second kind, we can make

$$
\begin{aligned}
\sum_{n=0}^{\infty} \widetilde{P}_{n}(m-1 ; \lambda) \frac{t^{n}}{n!} & =\sum_{n=0}^{\infty} 2 \sum_{i=0}^{m-1}(-1)^{i}(2 i+1 \mid \lambda)_{n} \frac{t^{n}}{n!} \\
& =2(1+\lambda t)^{\frac{1}{\lambda}} \sum_{i=0}^{m-1}\left(-(1+\lambda t)^{\frac{2}{\lambda}}\right)^{i} \\
& =2(1+\lambda t)^{\frac{1}{\lambda}}\left(\frac{(-1)^{m-1}(1+\lambda t)^{\frac{2 m}{\lambda}}+1}{(1+\lambda t)^{\frac{2}{\lambda}}+1}\right) \\
& =\sum_{n=0}^{\infty}\left((-1)^{m-1} \widetilde{E}_{n}(2 m, \lambda)+\widetilde{E}_{n}(\lambda)\right) \frac{t^{n}}{n!}
\end{aligned}
$$

which, on comparing the coefficients, the required relation at once.
Theorem 3.4. Let $a, b$ be non-negative integers. We then have

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \widetilde{E}_{n-k}\left(b x, \frac{\lambda}{a}\right) \widetilde{E}_{k}\left(a y, \frac{\lambda}{b}\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \widetilde{E}_{n-k}\left(a x, \frac{\lambda}{b}\right) \widetilde{E}_{k}\left(b y, \frac{\lambda}{a}\right) .
\end{aligned}
$$

Proof. Cosider that

$$
A(t)=\frac{4(1+\lambda t)^{\frac{a+b+a b(x+y)}{\lambda}}}{\left((1+\lambda t)^{\frac{2 a}{\lambda}}+1\right)\left((1+\lambda t)^{\frac{2 b}{\lambda}}+1\right)}
$$

The form $A$ can turn to

$$
\begin{align*}
A(t) & =\frac{2}{(1+\lambda)^{\frac{2 a}{\lambda}}+1}(1+\lambda t)^{\frac{a(1+b x)}{\lambda}} \frac{2}{(1+\lambda t)^{\frac{2 b}{\lambda}+1}(1+\lambda t)^{\frac{b(1+a y)}{\lambda}}} \\
& =\sum_{n=0}^{\infty} \widetilde{E}_{n}\left(b x, \frac{\lambda}{a}\right) \frac{(a t)^{n}}{n!} \sum_{n=0}^{\infty} \widetilde{E}_{n}\left(a y, \frac{\lambda}{b}\right) \frac{(b t)^{n}}{n!}  \tag{3.1}\\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \widetilde{E}_{n-k}\left(b x, \frac{\lambda}{a}\right) \widetilde{E}_{k}\left(a y, \frac{\lambda}{b}\right)\right) \frac{t^{n}}{n!}
\end{align*}
$$

or, equivalently,

$$
\begin{align*}
A(t) & =\frac{2}{(1+\lambda)^{\frac{2 b}{\lambda}}+1}(1+\lambda t)^{\frac{b(1+a x)}{\lambda}} \frac{2}{(1+\lambda t)^{\frac{2 a}{\lambda}}+1}(1+\lambda t)^{\frac{a(1+b y)}{\lambda}} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \widetilde{E}_{n-k}\left(a x, \frac{\lambda}{b}\right) \widetilde{E}_{k}\left(b y, \frac{\lambda}{a}\right)\right) \frac{t^{n}}{n!} \tag{3.2}
\end{align*}
$$

and the theorem is proved in (3.1) and (3.2).

Corollary 3.5. Setting $a=1$ in Theorem 3.4, we can get

$$
\sum_{k=0}^{n}\binom{n}{k} b^{k} \widetilde{E}_{n-k}(b x, \lambda) \widetilde{E}_{k}\left(y, \frac{\lambda}{b}\right)=\sum_{k=0}^{n}\binom{n}{k} b^{n-k} \widetilde{E}_{n-k}\left(x, \frac{\lambda}{b}\right) \widetilde{E}_{k}(b y, \lambda)
$$

Theorem 3.6. Let $a, b$ be odd non-negative integers. We then have

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \widetilde{E}_{n-k}\left(b x, \frac{\lambda}{a}\right) \widetilde{P}_{k}\left(a-1 ; \frac{\lambda}{b}\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \widetilde{E}_{n-k}\left(a x, \frac{\lambda}{b}\right) \widetilde{P}_{k}\left(b-1 ; \frac{\lambda}{a}\right) .
\end{aligned}
$$

Proof. Suppose that

$$
B(t)=\frac{4(1+\lambda t)^{\frac{a+b+a b x}{\lambda}}\left((-1)^{a-1}(1+\lambda t)^{\frac{2 a b}{\lambda}}+1\right)}{\left((1+\lambda t)^{\frac{2 a}{\lambda}}+1\right)\left((1+\lambda t)^{\frac{2 b}{\lambda}}+1\right)}
$$

Because $a$ is odd integer, the form $B$ can turn to

$$
\begin{aligned}
B(t) & =\frac{2(1+\lambda t)^{\frac{a(1+b x)}{\lambda}}}{(1+\lambda)^{\frac{2 a}{\lambda}}+1}\left(\frac{(-1)^{a-1}(1+\lambda t)^{\frac{2 a b}{\lambda}}+1}{(1+\lambda t)^{\frac{2 b}{\lambda}}+1}\right) 2(1+\lambda t)^{\frac{b}{\lambda}} \\
& =\sum_{n=0}^{\infty} \widetilde{E}_{n}\left(b x, \frac{\lambda}{a}\right) \frac{(a t)^{n}}{n!} 2 \sum_{i=0}^{a-1}(-1)^{i}(1+\lambda t)^{\frac{b(2 i+1)}{\lambda}}
\end{aligned}
$$

In here, we can note that

$$
\begin{aligned}
2 \sum_{i=0}^{a-1}(-1)^{i}(1+\lambda t)^{\frac{b(2 i+1)}{\lambda}} & =\sum_{n=0}^{\infty} 2 \sum_{i=0}^{a-1}(-1)^{i}(b(1+2 i) \mid \lambda)_{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} 2 \sum_{i=0}^{a-1}(-1)^{i}\left(1+2 i \left\lvert\, \frac{\lambda}{b}\right.\right)_{n} \frac{(b t)^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \widetilde{P}_{n}\left(a-1 ; \frac{\lambda}{b}\right) \frac{(b t)^{n}}{n!}
\end{aligned}
$$

Therefore, we have the following form $B$ :

$$
\begin{align*}
B(t) & =\sum_{n=0}^{\infty} \widetilde{E}_{n}\left(b x, \frac{\lambda}{a}\right) \frac{(a t)^{n}}{n!} \sum_{n=0}^{\infty} \widetilde{P}_{n}\left(a-1 ; \frac{\lambda}{b}\right) \frac{(b t)^{n}}{n!}  \tag{3.3}\\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \widetilde{E}_{n-k}\left(b x, \frac{\lambda}{a}\right) \widetilde{P}_{k}\left(a-1 ; \frac{\lambda}{b}\right)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Now following the same procedure when $b$ is odd integer, we find the following other form $B$ :

$$
\begin{align*}
B(t) & =\frac{2(1+\lambda t)^{\frac{b(1+a x)}{\lambda}}}{(1+\lambda)^{\frac{2 b}{\lambda}}+1}\left(\frac{(-1)^{b-1}(1+\lambda t)^{\frac{2 a b}{\lambda}}+1}{(1+\lambda t)^{\frac{2 a}{\lambda}}+1}\right) 2(1+\lambda t)^{\frac{a}{\lambda}} \\
& =\sum_{n=0}^{\infty} \widetilde{E}_{n}\left(a x, \frac{\lambda}{b}\right) \frac{(b t)^{n}}{n!} \sum_{n=0}^{\infty} \widetilde{P}_{n}\left(b-1 ; \frac{\lambda}{a}\right) \frac{(a t)^{n}}{n!}  \tag{3.4}\\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \widetilde{E}_{n-k}\left(a x, \frac{\lambda}{b}\right) \widetilde{P}_{k}\left(b-1 ; \frac{\lambda}{a}\right)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Comparing (3.3) and (3.4), we can complete the proof at once.
Corollary 3.7. Putting $a=1$ in Theorem 3.6, we see

$$
\sum_{k=0}^{n}\binom{n}{k}(b \mid \lambda)_{k} \widetilde{E}_{n-k}(b x, \lambda)=\frac{1}{2} \sum_{k=0}^{n}\binom{n}{k} b^{n-k} \widetilde{E}_{n-k}\left(x, \frac{\lambda}{b}\right) \widetilde{P}_{k}(b-1 ; \lambda)
$$

## References

1. M. Alkan and Y. Simsek, Generating function for $q$-Eulerian polynomials and their decomposition and applications, Fixed Point Theory and Applications 2013:72 (2013).
2. R.P. Agarwal, C.S. Ryoo, Calculating zeros of the generalized Genocchi Polynomials, J. Appl. Math. \& Informatics 27 (2009), 453-462.
3. L. Carlitz, A note on Bernoulli and Euler polynomials of the second kind, Scripta Math. 25 (1961), 233-330.
4. Y.H. Kim, H.Y. Jung, C.S. Ryoo, On the generalized Euler polynomials of the second kind, J. Appl. Math. and Informatics 31 (2013), 623-630.
5. J.Y. Kang, C.S. Ryoo, A research on the new polynomials involved with the central factorial numbers, Stirling numbers and others polynomials, Journal of Inequalities and Applications 2014:26 (2014).
6. J.H. Kwon, H.Y. Lee and C.S. Ryoo, On the $\lambda$-Genocchi polynomials and numbers of second kind, JP Journal of Algebra, Number Theory and Applications 35 (2014) 25-34.
7. B. Kurt, Some relationships between the generalized Apostol-Bernoulli and Apostol-Euler polynomials, Turkish Journal of Analysis and Number Theory 1 (2013), 54-58.
8. Q.M. Luo, H.M. Srivastava, Some relationships between the Apostol-Bernoulli and ApostolEuler polynomials, Comuters and Mathematics with Applications 51 (2006), 631-642.
9. H. Ozden and Y. Simsek, Modification and unification of the Apostol-type numbers and polynomials and their applications, Applied Mathematics and Computation 235 (2014), 338-351.
10. C.S. Ryoo, A Note on the Zeros of the $q$-Bernoulli Polynomials, J. Appl. Math. \& Informatics 28 (2010), 805-811.
11. C.S. Ryoo, A numerical investigation on the zeros of the tangent polynomials, J. Appl. Math. \& Informatics 32 (2014), 315-322.
12. C.S. Ryoo, Calculating zeros of the second kind Euler polynomials, J. Comput. Anal. Appl. 12 (2010), 828-833.
13. H.M. Srivastava, A. Pinter, Remarks on some relationships between the Bernoulli and Euler polynomials, Applied Mathematics Letters 17 (2004), 375-380.
14. Yilmaz Simsek, Identites associated with generalized Stirling type numbers and Eulerian type polynomials, Mathematical and Computational Applications 18 (2013), 251-263.
15. Yilmaz Simsek, Generating functions for generalized Stirling type numbers, Array type polynomials, Eulerian type polynomials and their applications, Fixed Point Theory and Applications 2013:87 (2013).

Jung Yoog Kang received Ph.D. degree from Hannam University, Korea. Her research interests focus on the applied mathematics and number theory.
Department of Information and Statistics, Anyang University, Anyang-shi 430-714, Korea.
e-mail: jykang@anyang.ac.kr


[^0]:    Received May 23, 2017, Revised July 10, 2017. Accepted August 18, 2017.
    (C) 2017 Korean SIGCAM and KSCAM.

